ToughArmor ICY DOCK
Full Metal 4 Bay 2.5" U.2 NVMe SSD Backplane Cage

MB699VP-B MB699VP-B V3
miniSAS HD OCuLink
SFF-8643 Connector SFF-8612 Connector

Cremax Europe GmbH
Weidenweg 21H

47059 Duisburg, Germany
Email: support@icydock.com

Copyright © ICY DOCK International. All Rights Reserved. 650304 VER 1.0

Package Contents " Packungsinhalt " Contenu " Contenido
del paquete " RleeZ £g %" ;?@aD " ;>0B*D

2

Device User Manual Drive ID Plug

B x10 E x18

10 x M3*2.5 Pan Head Screw for Device 18 x M3*4 Flat Head Screw for 2.5" SSD
(2 x Screw for Spare Parts) (2 x Screw for Spare Parts)
C @ Note: Please use the included screws to secure the device and the drive(s) )
Device Information " Geréateinformationen " Informations dispositif
" Informacion del dispositivo " «/1 A " «Q@aDbD " p%B*D
V¥ Front View
MB699VP-B / MB699VP-B V3
[ | s e Y s s { s | s [ [ s o f s s s Y s Y s o § Il
e o e T T [ e T [T Te e
ﬂ' e e T T ATt I]' ETTeTa]
=) o T =TT ==T]
= =
adococoocochooo oo cocochooo
e oo TeTaea] mmmeme] [T e
[T meTee [ [emmTmee e =Tz} cScococachesa
(R 5 ocococococpase (P €5 sccococpase
S¢ococococoepeoo [T =TTl ==T]
1 2 3 1 2 3

1 Drive Tray Ejection Button
2 LED Indicator (Power: Solid Green ; Drive Access: Flashing Green)

3 Slot for Drive ID Plug

V Rear View
MB699VP-B

H%HOG O

R el

1 2 4
1 15 Pin Power Port 2 3 Pin Fan Header Port
3 miniSAS HD Connector Port 4 OCuLink Connector Port
Installation Guide " Installationsanleitung " Guide d'Installation " Guia
de instalacién " &§ O "% ¢M ¢mIFZ g %o 'bPe 7 bPU

The tray accommodates U.2 NVNe drives
up to 15mm in height. Flip both tray and
drive to the bottom side to insert the drive.

Align the four screw holes to the drive and Insert the drive with tray back into the
use the included M3*4 screws to install. device to complete installation.
(Optional)

ﬁ Drive ID Plug

=

Insert the drive ID plug into the slot, according to your preference.

Device Installation " Installation eines Gerates " Installation du dispositif

Instalacion del dispositivode ” Ye® | |+mlF 7?58 ;2 bPe
TAD=¢? bPe

M3*2.5 scremE‘

1. Insert the device into external 5.25" bay and use the
included M3+*2.5 screws to secure the device

2. Connect miniSAS HD and OCulLink cables to the
device to finish installation

For the warr anty information, pl  ease visit www .icydock.com/war ranty.php




